1. Given: ZO is comp to £2
ZJis comp to /1
Prove: Z0 = «£J

Statement

2. Given: £1 = /3
Prove: £2 is supp to £3

Statement

3. Given: £1 is comp to £3
Z2is comp to £4
Prove: £1 = /4

Statement
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Reason

Reason




4. Given: Z£1 is supp to £2
£3 is supp to £4
L1 = /4

Prove: £2= /3

Statement Reason

5. Given: ZAis compto £C D
«DBC is comp to £C
Prove: ZA = ZDBC B | c

Statement Reason



6.. Given: KO_LMO,PM_1LMO
/KOR = Z/PMR
Prove: ZROM = ZRMO

O I

Statement Reason

7. Given: Z1is comp to £4
/3 is comp to £2
RT bisects £SRV

Prove: £1 = /2

Statement Reason




More Chap 2 Proofs

. Given: AB1 BC,DCLBC, /1= z4 A
Prove: £2= /3

. Given: £L3=/4, /1 =/2, /5= /6
Prove: £1 =6

. Given: 1= /6
Prove: /5= .2

. Given: Z1is supp to £5
Prove: £3= /2

. Given: £3= /2, AB L A_E, DE 1 AE
Prove: Z1 = /4

. Given: ACbisects #BCD, B
/3 is comp to £1, Z4 is comp to £2
Prove: £1 = /2




